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Effective Tax Shield

	
	
	
	

	
	
	
	

	Debt Policy

State
	
No Debt

  s1
s2  
	
B=100

  s1
s2  
	
B=110

  s1
s2


	Cash Flow
	 130
210  
	 130
210  
	 130
210


	Non-Cash Tax Shields
	  30
30  
	  30
30  
	  30
30


	CF to Debt
	   0
0  
	 100
100  
	 110
110


	Taxable Income*
	 100
180  
	   0
80  
	   0
70


	Tax Expense**
	  40
72  
	   0
32  
	   0
28


	CF to Equity
	  90
138  
	  30
78  
	  20
72


	Total Cash Flow to Security Owners (Debt + Equity)
	  90
138  
	 130
178  
	 130
182


* There are assumed to be no tax loss carryforwards permitted.

	
	
	
	


** The statutory tax rate is assumed to be 40 per cent.

The key to this example is to notice that the effective corporate tax shield per dollar of debt declines as the firm takes on more debt.  Notice that the tax shield benefit of the first $100 of payment to debt is $40 (the tax rate multiplied by B), regardless of the state.  However, as B rises above 100, the full tax shield is received only in state s2, with no corporate tax benefit at all received in s1.  Thus, if these states are equal probability and equal price, the effective marginal corporate tax shield is only 20% instead of 40%, for B greater than 100.  (Notice also that if B gets very large, greater than 180 in this case, the effective corporate tax shield falls to 0%.)

